RIEDARX D2

<BE>
REDRREE ST, WANWASLRAEZFREICBHTLIZLNTE D,

<[HRE>
TD32DOEMNLEROABIZONTEZEL & 9,
(1) BEL=HLORD, x DREIZH>WT
(2) BELEZHEDRKD, HOHEIZOWT
EDXH72T LB Fh,

(1) (x+3) ? (2) (x—4) 2 (2) (83x+4) 2
= (x+3) (x+3) = (x—4) (x—4) = (3x+4) (3x+4)
=x’+6x+9 =x2—8x+16 =9x24+24x+16
2X3X1 32 2X (—4) X1 (=4) 2 2X4X3 47

X (1) (2) ® x1D113, xDFEEEET,

5.z 5= o8I,
1 () ohomE» 2o
2 2FROIBEDIOVTND
ZETT,

FIT, BEzonim®XE  (cx+a) 2 LLET, T5L,

x ODFRET 2xaXc

HOEIX a?
LIRoTNBZ b £,

T Enb, WOARMBEY SLBET,

<A 2 >IEF DA <A 2 >

(cx+a) 2 (cx—a) 2

=c?x%+2XaXcx+a? =c?x2—2XaXcx+a?t
<HBHERIE>

HEEP 192, 3%, ARXEFBLTEELRZIV,

@

(1) (a+3) 2 (2) (x—7) 2
=a2+2x3%xa+32 =x242%x (—7) xx+ (—7) 2
=a?+6a+9 =x2—14x+49



(8) (v+4) ?

=y2+2%x4Xy+4°2
=y24+8y+16
(1) (x—5y) *? (2) (a+4b) 2
=x%24+2x (—5y) xx+ (—5y) 2 =a?+2x4bxa+ (4Db) 2
=x2—10xy+25y?2 =a?+8ab+16b?2
(3) (4x—vy) °® (4) (2x+3y) 2
= (4x) *+2x (—y) x4x+ (—y) ? = (2x) ?+2x3yx2x+ (3y) 2
=16x%2—8xy+y? =4x%4+12xy+9y?

(6) (=x+2vy) 2
(5) (a+2b)? = (=x) *+2x2yx (-x) + (27)
' =x?—4xy+4y?
=a2+2x—;‘b><a+ (—lz—b) 2

=alz-l-ab-|-%b2

< FIRE >
HERIAVTE6 FEAK (2) 2, AXEZFALTEREALRZE,

XREFE /) — MRV RE, ZOBRIC, 2 THOREE T HNTIEVTHRENERA,



